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QUESTION 1

Which two of the following devices are recommended to be deployed in the DMZ of an enterprise? (Multiple Choice)
A. U1900

B. sbc

C. MAA

D. eServer

E. Meeting MS

Correct Answer: BCE

QUESTION 2

The administrator can download the corporate directory template from the BMU and import the template file to add
information about multiple contacts to the corporate directory in batches.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 3

In the Space UC solution, UC users can log in to the () to maintain and modify their personal information.
A. Unified gateway

B. BMU

C. eSight

D. UMS

Correct Answer: B

QUESTION 4

In the local two-node cluster redundancy scenario, when the U1900 series unified gateway on the active node is faulty,
service servers need to be manually connected to the unified gateway on the standby node.

A. TRUE

B. FALSE

H11-828 Practice Test | H11-828 Study Guide | H11-828 Exam Questions 2/3


https://www.geekcert.com/h11-828.html
https://www.geekcert.com/h11-828.html
https://www.geekcert.com/h11-828.html

VCE & PDF https://lwww.geekcert.com/h11-828.html
2024 Latest geekcert H11-828 PDF and VCE dumps Download

GeekCert.com

Correct Answer: B

QUESTION 5

In the local regeneration scenario, assume that user A is a SIP user in branch site 1 and user B is a PSTN user outside
branch site 1. User A calls user B through the gateway in branch site 1. In the case that local regeneration occurs in
branch site 1, RTP streams go through the following path after user A calls user B and the call between user A and user
B is set up: ().

A. User A branch site 1

B. User Acentral sitebranch site 1

C. User A->branch site I->central site->branch site 1

D. None of the above

Correct Answer: A
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